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Note : (i) 	All questions are compulsory. 

	

(ii) 	All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 

Explain important factors influencing 
development of mathematics curriculum at 
primary level. 

OR 

Discuss with suitable examples the competency 
based teaching-learning in primary mathematics. 

2. Answer the following question in about 
600 words : 

What is "Heuristic method" of teaching 
mathematics ? Explain its essential aspects with 
suitable examples. 

OR 
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What is "Remedial teaching" ? Explain the steps 
involved in Remedial teaching with examples. 

	

3. 	Answer any four of the following questions in 
about 150 words each. 

(a) Drill and Practice : Importance and Use 

(b) Minimum levels of learning - concept and 
importance. 

(c) Mastery learning approach : concept and 
importance. 

(d) Teaching of 'LCM and HCF' 

(e) Teaching of 'Print, Line and Plane' 

(f) Teaching of 'Addition of Fractions' 

	

4. 	Answer the following question in about 
600 words : 

What is the meaning and importance of 
"Enrichment Programme" ? Select a concept from 
primary mathematics and develop an enrichment 
programme on it for fast learners highlighting all 
steps involved in its development. 
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